Problem Sheet for Week 6 MT1121 More Integration

Suggested reading: ‘Stewart’ Chapters 5, 6 and 7 (and chapters studied earlier)

FEasy Questions

1. Evaluate the following indefinite integrals (you should be able to write down the answers immediately)
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Standard Questions

2. Confirm (by differentiating) that the product sinzcosz can be integrated in different ways to give
the three results

/sinxcosxdx = %sian—l—C, /sinxcosxdx = —%COSQ.%‘—FO, /sinxcosxdx = —1cos(2z) + C

Is it true that 1sin®z = —1cos?z = —1cos(2z)?
If not, why is it that the integral can be written in any of these three ways?
3. (a) Use integration by parts to evaluate the following integrals
/ Vi + 22dz . / Va? — 22dz i, / Vo2 — 3dt
(b) Evaluate the same integrals using suitable substitutions.

4. Evaluate the indefinite integrals
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5. Evaluate the definite integrals
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6. Evaluate the indefinite integrals
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